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A3 3<T (Class IX) Nr

REASONING AND SCHOLASTIC APTITUDE TEST
39 (FAfEIT) MI fefimdt € Gar3T & ¢Ae

Time : 3 hours Max. Marks : 150
Instructions for candidates :

1. This question paper is in two parts.

2. Part - I is related to Reasoning Test which
consists of 30 questions.

3. Part - II relates to Scholastic Aptitude Test
which consists of 120 questions relating to six

subjects listed below :

1)  Mathematics : 30
i1)  Science : 30
iii)  Social Studies : 30
iv)  Punjabi : 10
v)  English : 10
vi) Hindi : 10

4. Each question carries one mark. All questions
are compulsory.

5. You have been provided an answer sheet
(OMR) for this question booklet. Darken the
circle of correct option of each question in the
answer sheet (OMR) with black/blue ball pen.

6. Rough work may be done on the blank space
provided for this purpose.

7. Thereis nonegative marking in this test.

8. Donotuse white fluid on Answer Sheet (OMR).

AHT: 3ufe IEHA: 150

Eite=rar et gerfeat:

feoyms Ugge gar fee9d |
ufgsT 9791 399 Har3T &% AEU3 7, fam feg
30YRG IS |

gd g1 feg fefirt &t Gogr &% Agu3
foras eane g fefmit € 120 s 75 |

1. dfes : 30
2 Afem : 30
3. A feforrs - 30
4 UaArst : 10
5 GG : 10
6 fa<t : 10

I9F YHG T fed Wd J IAd YHe Agal I5 |

3% fem yms unfsar wet fea €39 wie
(G nmg ) fa gt areant | €739 Hie (& W
»g) [T yAs T Adt €39 € 318 § T8 /318
T8 U5 5% I o €dAT S |

IoTIHfe St oty Bt g IASTHATHIETJ |

fem yifmr feg faeana (&difex) Hrafdar
SITT |

g 3arte (&. . mrg.) §ug =t efzbs &t
I SIS A= |




Rough Work / &97 aH



fogem (YyAs 1-2) :
It fo3 ymst 89 aE3/299 nia At us &1 €3
feamut feg 9= &9

1. (1) 353 (2) 234
(3) 123 (4) 456
2. (1) EHG (2) IML
(3) PSR (4)  UYX
fosoem (YRs 3-4)

J5 &3 fo39 g AHS & o €3 ymet © €37
fe@:

Afodt & :T‘“\ 7 - 3% AT
10

12 5 13

— UJH

8 v 14
[ 5 N—u3feu s

TIAET IS |

4,

3. fd3 ‘ug foudx’ ‘mfadt’ sdt 572
() 10 (2) 4
3) 11 (4) 9

4., & ‘mfodt &x’, &7 37 ‘B A=K’ TS, &7 It
‘I fou B’ T MS &I ‘USH’ IS5 ?

(1) 3 (2) 5
3) 6 4) 10
fsgem (Yyas 5-7) ¢

It &3 yrst &9 & nia/miueg &t it st
3, 7 & f&x Uegs &9 7187 Uzas 3 fimrs
fSe Iy & &=t g Y97 I9s BE AT €39 S I
X9

(1 5 (2) 6
(3) 8 4) 12
6. 31,37,41,43,47,53......
(1) 55 (2) 57
(3) 59 (4) 63
7. PMT,NOS,LQR,JSQ, ...
(1) Hup (2) GuUP
(3) KVR (4) WP

Directions(Questions 1-2) :
Find the wrong/odd number or term from the given

options:
1. (1) 353 2) 234
(3) 123 4) 456
2. (1) EHG ) JML
(3) PSR 4) UYXx

Directions (Questions 3-4)
Understand the given figure and answer the
following questions:

Urban People 3 7 ~—+ Public sarvania
)
&

— Malez

/ 2 \_\—" Educated People

In the given figure, Rectangle represents 'Males',
Circle represents 'Urban People', Square represents
'Public Servants' and Triangle represents 'Educated

People'.

3. How many 'educated people' are not 'urban
people'?
(1) 10 (2) 4
(3) " (4) 9

4. What is the number of 'Urban People', who are
neither 'public servants' nor 'educated people’ and
'males'?
(M 3 (2 5
(3) 6 (4) 10

Directions (Questions 5-7):
There is a number/letter series, which follows a
pattern. Follow the similar pattern and find out the
correct answer from the given options to complete

the series:
5. 94,36,18, ........

(1 5 (2) 6

(3) 8 (4) 12
6. 31,37,41,43,47,53......

(1) 55 (2) 57

(3) 59 (4) 63
7. PMT,NOS,LQR, JSQ,........

(1) HUP (2) GUP

3) KW 4 WP



8. BUIHAMTUITHS: 8. Find the missing term:

12 |16 | 12 12 ({16 | 12
22 | 28 | 64 22 | 28 | 64
44116 | ? 44 |16 | ?
(1) 96 (2) 120 (1) 9% 2 120
(3) 132 (4) 144 3) 132 4) 144
9. @Bﬁﬁmrwa—;r; 9. Find the missing term:
5 1 5 1
3 3
1n 1n
(1) 36 (2) 8 (1) 36 2 8
(3) 125 (4) 216 @ 125 4 216
fsgem (yAs 10-11) : Directions (Questions 10-11):
Jot i3 o9 yms S8 39 (X) ® Ut = At In each of the following questions choose the
Uiy &t o3 feamut fee s a9 correct water image of figure (X) from given
° alternatives:
10. —_ -
. 10. ‘_’,&_
ZX X
_[KJ i)
L ' B '
X x| [ [ [egpe{lieille.
@ @3) @) (1) 2) (3) (@)
11. - 11. -
B} : 4]
B D B & B @ (B &
(1) (2 (3) (4) (1) (2 (3) (4)



12.

13.

14.

15.

16.

17.

18.

nis<t B 99 o 39 fefenrgdt g5 13fos =
B &9 €usd uR 3° 18 = S99 I 18T At
fSe s U R I fdee AESs 3 T

(1 18 (2) 22

(3) 32 4) 19

wF St gErt 3:30 =W A3 fsarst =¥ a=
T TN TS|
(1) 40"
3) 60"

(2) 30’
4) 75°

A9 1 AG=dT 2008 § AH='T HY, 3T 31 THES
2008 3 fxgz fos J2ar?

(1) FHES (2) gu=T

(3) Haweg (4) HIITI

€r g3 <t 9= &9 A T, 3T »3 AeeIt

(3) (4)

(1) (2)

8r 939 &t 9= a9 ¥ f3a=i, 99 gt %

©0 M © ¥
(1) (2) 3) (4)

f€x 12 AH 37" =& WT § 3 AH 3A" T8 8¢
Wt fSg ez 3 3 s W= g=aar?

(1 4 (2) 16

(3) 36 (4) 64

¥ difentt T wnifesst @8 nigus 64:729
371895 T u39ew <9 niguT3 ot 9ar?

(1) 47 (2) 16:81

(3) 9:16 (4) 2:3

12.

13.

14,

185.

16.

17.

18.

There are 39 students in class 8th. Rohit is on 18th

place from the top. On which place he is from the

bottom.
(1 18 2) 22
(3) 32 4) 19

Find the angle between the hands of the clock at
3:30.

(1) 40 2) 30°

3) 60° @) 75

If 1st January 2008 was Monday, then what day of
the week was 31st December 2008?

(1) Monday (2)  Wednesday

(3)  Tuesday (4)  Friday

Identify the diagram that best represents the
relationship among Elephants, Wolves, Animals.

(3) (4)

(1) (2)

Identify the diagram that best represents the
relationship among Triangles, Four-sided figures
and Square.

©0 M © ¥
1) 2) 3) (4)

Acube of aside 12cmiis cut into small cubes of side
3cm. How many small cubes can be formed?

(1) 4 (2) 16
(3) 36 (4) 64

The ratio of volume of two Spheres is 64:729. What
istheratiointheirareas?

(1) 4:7 (2) 16:81

(3) 9:16 (4) 2:3



fsgem (Yyas 19-21) ¢

19.

20.

21.

It &3 ymst &9 839 A,B,C »i3 D AHfm
o33 95 w3 (1),(2),(3) M3 (4) €37 fos9
TsIfSsgAn3 B fRE St Adu 3, @R sg &
Aeu fg39 ¢ 3 D &9 AEfus 98 e 3l
ICECASIE=rA-CH

AHfr fo39
OO ?
SECRCEGH

AN fo39
A2
€59 fosg

AT fse
oo O ?
SECACED)

19.

20.

21.

Each of the following question constitute A,B,C
and D as problem figure while (1),(2),(3) and (4)
constitute answer figure. There is a definite
relationship between figure A and B. Establish a
similar relationship between figure C and D by

Directions (Questions 19-21) :

choosing a suitable answer figure.

Problem Figure

[]

[=]

O

A c D
Answer Figures
(1) 2 (3) 4)

Problem Figure

\[/

A

L

A

Answer Figures

(o]

L

e

L

(1) ) 3) 4)
Problem Figure

SII®INCIN

A B c D

Answer Figures

O

O

O

S

(1)

()

©)

(4)




fogem (YyAs 22-23) :
Jot f&3 I9x yms fRe fisT () T Bus sarg
&3 53 nigA™9 395 BEL o3 arE feamut f5°

22.

23.

24.

At feamy & 8T a9
?
(x)
e
(1) (2 (3) (4)
?
(x)
(1) (2) (3) (4)

A9 ‘HT’ ‘ust’ 3, ‘uEt’ ‘RIS’ T, ‘A

‘€%’ I, ‘9€%’ ‘WANS

0y =

I, ‘MAHS’

‘Ades’ T, ‘AMEd’ ‘IA3T I, 3T ¥R a9t
foe Fozart?

(1) A3 (2) TH3T

(3) uret (4) 9T

fsgem (YyAs 25-26) :
I e quat § f™s 576 ug »is yis 25 nis
26 T €39 fef:-

25.

iv.

A3 B fIEt mi3 nigromt Uz 8T I3 |
C M3 B FAIS N3 nidgwt UFTET T3 |
D »i3 A fdEt w3 forrg ug 8T o5
E n3 B foredt wis Ut ug 8T o5 |

ug8era?

(1 A

(2) B

(3) C (4) D

Directions (Questions 22-23) :

22,

23.

24.

In each of the following questions complete the
missing portion of figure (X) according to the given
pattern by selecting correct option from the given
alternatives:

?
(x)
pd
m @ e @
?
0
M @ @) @

If the ‘rain’ is ‘water’, ‘water’ is ‘road’, ‘road’ is
‘cloud’, ‘cloud’ is ‘sky’, ‘sky’ is ‘sea’, ‘sea’ is ‘path’,

then where do cars move?
1 Road (2) Path
(3) Water (4) Cloud

Directions (Questions 25-26) :

25.

Read the given sentences carefully and answer the
questionno.25&26:

i. Aand B teaches Hindi and English.

ii. C and B teaches Geography and English.
ii. DandAteaches Hindiand Maths.

iv.  EandBteaches History and Punjabi.

Which teacher teaches maximum subjects among
them?

1) A 2) B
3 C (4)



26.

27.

28.

29.

30.

uFeETI5?
(1) An3B (2) Cw3B
(3) CmM3D (4) AM3D

1. Divide 2. Devine
Divest 4. Direct

3
5. Divisions

(1) 2,4,1,5,3 (2) 2,4,1,3,5
(3) 2,4,3,1,5 (4) 3,5,4,1,2

fa9 3 @ 3 f¥x fos ufost mEles At 3
8T T &g I I faogT fes 9=ar?
(1) gueg (2) w3eg

(3) FHET (4) Ha®eg

YsH3 »uE uT 3 15 fadHies €39 fem 3
At 91 fog 89 ¥7 uz 8 famites T=<t
31T o iU we 3 33 fadhiles g9 37
(1) 7fowHes (2) 17fo@tes

(3) 21fa@ies  (4) 23fo@Hies

It €3 yms fSo wet < fas3t a9

ym

26.

27.

28.

29.

30.

Which teachers teach Maths and Hindi both
subjects?

(1 AandB (2) CandB
(3) CandD 4) AandD

Arrange the following words as per dictionary
order:

1. Divide 2. Devine
3. Divest 4. Direct

5. Divisions

(1) 24153 (2) 241,35
3) 24315 (4) 3,54,12

If the day before yesterday was Saturday, What will
be the day after tomorrow?

W) Wednesday (2) Sunday

(3) Monday 4) Tuesday

Prabhjot walks from her house 15km toward North,
then she turns left and walks 8km. Now how much

sheis far from her house.

(1) 7km (2) 17 km
3) 21km (4) 23km

Infollowing question count number of cubes:

yu

(3) 89 4) 81



31.

32.

33.

34.

35.

36.

37.

38.

Part- Il (SCHOLASTIC APTITUDE )

fost arst mitass I &9
3x-2 2x+ 3_ 2

4 3 3 X

(1 2 (2) 572

(3) 1 4 -1

f&x Taae™g 8 JUR T 10 iz yIteeT I M3 10
JUT T 8 nifsniT T farg s v feer T
TABET T HF A TS YSHI UIT IS

1

(1) 563% IS (2) 565% &'

(3) 22:% T&T  (4) 22:%FT
Hio fEx iftnr f£9° 28% »id yus a9t I
3 12 widt 5% IB T 7 I I=A3 fem
i f&8° 40% il yus F9et I WS UA 3
T FFHE nixt 58 60 wixk fimimer yus s9<t
T yA I TEt BFT wiat T YFHI U IS

(1) 30% (2) 33%
(3) 35% 4) 37%
[100-300€720% ] € 40% = -------
(1) o4 (2) 140

(3) 16 (4) 20

162 =991 HieT U39S § UTT T3 Bt 90 Ht Hied
AT T fXart Tgarare ifest &t 7ges
y=ait?

(1) 100 (2) 200

(3) 250 (4) 300

Afdes 3 fex Aretas 575 9: fS9 ydtfentt i3
125 JuT feret HIH3 'S yawo i3 | fag F3
feg rretas 770 ue e 39 st 1BrAer &
C IRV ERIE g

(1) 5% Jat (2) 10% &3

(3) 121% &S  (4) 10% Tt

Felu T fusT St e ATl et BHe T iS5 = I
12 A'® T Aoty ¥ fusT &t 81T Er<t @Ha &
TarEt Ifg Arant | Aety € 293Hs BHI U3 J |
(1) 107A® (2) 127
(3) 247 (4) 36 AT

fex nrfesaeg use &t et »i3 I T
idUT3 11: 4 I 1 fER use Tt oradie<t a9 et
100 JUT Yyt Hies &t B9 &% 75000 JUT =
IR T I I fFER USE TTU3ISB UST A |
(1) 27500TIaTHles  (2) 2750 TIIT HteT
(3) 22500=3aTHled  (4) 30800 TIdT HeT

3.

32,

33.

34

35.

36.

37.

38.

Solve the given equation:

3x-2 2x+3 2

2+ 3 3 F
(1 2 2) 52
@) 1 @) -1

A shopkeeper buys 10 eggs for Rs 8 and sells at 8 for
Rs 10. Find his gain or loss percentage.

(2) 5641% Loss (2) 5641% profit

(3) 22%% Loss  (4) 22%%proﬁt

Meena scored 28% marks in an exam and failed by 12
marks. Ranjit scored 40% marks in the same exam
and obtained 60 marks more than the required marks
to pass. Find the required pass percentage for this
exam.

(1) 30% 2  33%
3) 35% @) 37%
40% of [100-20% 0f300]= ------

(1) 64 (2) 140
3) 16 @ 20

How many square tiles of side 90 cm are needed to
coverafloor of area162 sqm.

(1) 100 (2) 200
(3) 250 @) 300

Surinder bought an old cycle for Rs 575 and spent
Rs 125 on its repair. Then he sold the cycle in Rs 770.
Find the loss or profit percentage.

(1) 5% Loss
(3) 123 % Profit

(2) 10% Profit
(4) 10% Loss

Sandeep's father's age is thrice time Sandeep's age.
After 12 years Sandeep's father will be just twice his
son. Find the present age of Sandeep.

(1) 10years (2)  12years

(3)  24vyears (4)  36years

The ratio of the length and breadth of rectangular plot
is 11:4 the cost of fencing the plot at the rate of 100
rupees per metre is Rs. 75000 . Find the area of the
plot.

(1) 27500m’ 2)
(3)  22500m’ (4)

2750m’
30800m’



39.

40.

41.

42.

43.

44.

45.

46.

Weustas: (272+ 371+ 4°1)71

1 (2)

|
ol °*|u1

(3) 4)

fex gases fEa srg T nifas s fereng @
ydle H® 3° 10% Su a8 J1fed 8o fem
TA3 3 10% &< feer I 1 gxse9 o &9 A gat
UEI-ERIEdCO

() STIFPEFTRIS  (2) 1% 33

(3) 1% Tat 4) 2% &3

fo'a qud IBE S UAS AT T U3TSH 4224 T4
Fehitea 91 fer 3 fer &t Qo e nieRI e X
33 Aiehiles S3t & fox nifesarg geg gt
A T Inrfesarg greg TrufoHy usT g
(1) 322ATHes  (2) 310RZhieg

(3) 302ACHeT (4) 432 AchHtes

fe'sT famr 31 s far gatesfAet fe's =y-
TY Fafgas=r € Uz JI9 fefonrmaght =
fesws TIR@Tr I 179 nicdlal fefanraeint
&t Aftr 1275 32 3T gatesfAct feo uze

uviloy mlo'\

I B fefenraghnit @t fast usT a9

e Y
(1) 9500 ot b
(2) 10000 y ‘“?23“’
(3) 10100 \ P
(4) 10200 d

800 T941 HieT u3Je® =& fea nifesarg uz &t
fifaret Bt 160 w= HizT Ut €t T93° it arst
1 a3 fe 9 uEt T A39 < ot ot 3<it?

(1) 0.2Hes (2) 0.02Hzg

(3) 0.25Hzg (4) 0.15Hz39

9 fex we T 99x faa9 § gareT iz A= 3t
WE T nifeEss {88 areT Su Aear?

(1) 2dJer (2) 4qer

(3) o6der (4) 8der

féx mEggH T 99X niegal I T HY U3t
9, fAAErt 9 At 9=

(1) 120" (2) 105’

(3) 40’ (4) 140°

faadrt gggwt T feagst v Jet <t g Gast
FggHT ¥ gt g4 fSU AfE3 adt dev I?

(1) n<3s (2) €3%

(3) M3 Q) (4 feost T It adt

39.

40.

4.

42,

43.

44,

45,

46.

Findthevalueof: (272 + 371+ 4°1)-1

-6 -5
m = 2 ¢

6 5
3) 3 (4) 3

A shopkeeper displays marked prices of an article
10% more than its actual cost price, then he gives 10%
discount on its marked price . Find his loss or profit
percentage.

(1) NoProfit,NoLoss (2)
(3) 1% profit 4)

1% loss
2% profit
The lateral surface area of a hollow cylinder is
4224Cm’, It is cut along its height and formed a

rectangular sheet of width 33 cm. Find the perimeter
of the rectangular sheet.

(1) 322cm (2)
(3) 302cm (4)

310cm
432¢cm

The following pie chart depicts the distribution of
students of different nationalities in a University. If
number of African students is 1275, find the total
number of students studying in the university.

(1) 9500 L
(2) 10000 - w
(3) 10100 -
(4) 10200

160 m’ of water is to be used to irrigate a rectangular
field whose area is 800 m’. What will be the height of
the water level in the field?

() 02m (2)
(3) 0.25m (4)

0.02m

0.15m

If each edge of a cube is doubled, then how many
times volume of cube be increased?

(1)  2times (2)
(3) 6times (4)

4times

8times

Find the measure of each interior angle of a regular
polygon of 9 sides.

(1 120° 2) 105

3) 40° 4)  140°

Which are those polygons that have no any portion of
their diagonalin their exterior.
(1) Concave (2)
(3)  both(1)and(2) (4)

convex
None of these



47.

48.

49.

50.

51.

52.

53.

&3 g fize @8 sfenr rifgz gar &t
yfsmssTusT a9 |

(1) 45%
(2) 33.34%
(3) 35%
(4) 37.5%

IgS 3 120 JUT € € arg »iz 400 JuT =
fex < yditfenr| GR3 AT F 5 % BN 8
3 5% T3 3 39 371 Bne & &7 A gt
UsTII|

(1) SBIETIE 2) 183UE®F

(3) 153uemg (4) 14gugT&T

e 3 fEx fig v 3 40 Aidhiies w3 35 3° 70
A hites I Afaz I3t fer oo <t Afast ot 3=ait?
(1) (70, 40) (2) (40, 70)

(3) TB()MI(2) (4) fegs T et st

fe'sT famr 3w sam fan AgS

¥ 1000 feferraeint T uyrdter

Jadean foor I 1ds 5aH §

forrs s WS uzT a9 X

J:

1) &3 e Jar & ure J96
T fefenradint &t fasst
fefanragnit S faedt 32T |

2) HAIITUUAC AITAE & JA A& J |

3) @ Ja1 »i3 BB 9T § UAE FI& T
fefenragntt & faest I fefonragnit &
e T3 weT |

4) BT I i3 IIT 99T UFE a6 I fefeniraainit
fefenragn @t st ST

f&x nrfes fam @it et 3 Aidhiica ni3 4

Fhites 9= 3t B fexas’ < Saret st

Jait?

(1) 4RZhHteg (2) 1AZThiteT

(3) 7RZhiteT (4) S5AZhHites

U3 3 fex a9 udtes ¢ B fan §x 3

100000 JUT, 10% A& ferw °3 Qug &2

W faformA s gge R 3T 1 AB M3 9

HAB Enisfee Gua s TG T HET B &

faast It T ga3Ts A9eT fumerr?

(1) 118250 qu¥ 2)  1M7500FuE

3)  107509uE (4) 1267501 U

50,000 guUT &t It '3 1 IS Bt fHAfes o
UST 9 AT X fonrm 8% & w9 &% fardt ager
Gef)

(1) 5000 U 2)
(3) 55000 9uUT (4)

4080 qUT
54080 gUT

48.

49,

50.

51.

52,

53.

In the given figure find the percentage of the shaded
region.

(1) 45%

(2) 33.34%

(3)  35%

4) 37.5%

Rahul bought a ball for Rs 120 and a bat for Rs 400. He

sold the ball at a profit of 5% and bat at a loss of 5%.
Find the total profit or loss.

(1) NoProfitNoLoss  (2)
(3)  Rs.15 Profit 4)

Rs. 18 Profit
Rs.14 Loss

How can we describe the position of a dot on a graph,
which is 40 cm from left edge and 70 cm from bottom
edge:

(1) (70,40) (2)  (40,70)

(3)  Both(1)&(2) (4)  Noneofthese

Given Pie chart depicts the
favourite colour of 1000
students of a school.
Observing the given pie
chart and find which of the
following statements is true:
1) Number of students
who like red colour and
yellow colour is more
than the total number of students who like green
colour and blue colour.

2) The mostliked colouris Blue.

3) Total number of students who like red colour and
blue colour is less than half of the total number of
students.

4)  Total number of students who like blue colour and
green colour are more than who like red colour and
yellow colour.

What is the length of diagonals of a rectangle having
sides 3cmand4cm?

(1)  4cm (2) 1cm

(3) 7cm (4) 5cm

Parneet borrowed Rs. 100000 from a bank to buy a
car at the rate of 10% p.a. compounded yearly. What
amount will she pay at the end of 1 years and 9
months to clear the loan?

(1) Rs.118250 2)
(3) Rs.110750 (4)

Rs. 117500
Rs. 1267501

Find the compound interest on Rs 50000 for 1 Year,
when interest compounded at the rate of 8% half

yearly .
(1) Rs. 5000 (2) Rs.4080
(3)  Rs. 55000 (4)  Rs.54080



54.

55.

56.

57.

58.

59.

60.

fex a1 &9 3 &%, 5 BT 3 4 AT et
I | fer Far &9 o dre niesx et Afet T
AgesT UST a9 fxX et aret dre ARE &dt T
(1) 5/12 (2) 1/4

3) 273 4) 13

fa9 fan fig = x fogem vix fAeg T 3 fig
fog Afgs d29r?

() ufsdrdeetfes (2) et suetfes
(3) x-TI'3 (4) y-uI'3

fex s far Afag T o o U f&x amy
e &g su<t o uoRs ugoT8T BE! ATEl S
'3 AeT I 1Y-2 AN 3 Afge 3° GRet gt I
f&3 a9 TnraT TIATE aEt I d9e =
niftis 9 U3 &9 fa fam vizes f&o 8ret
IS AZ 3 frmmer A2

1) FARII0THI AT 1193

2) ALY THI AR 9= 3A

3) FARS9THI AT 1033

4) ANl =AIToufog2em3x

]

t &
= 18
By ¥
_EIIII
= §
B s
7
F

JrEET b T WETT LW AT LI TR A 1T Sdfm
TH —»

f€x AgeT 50000 U Fe udifenr fommi 8%
AoTST € B9 5% fon ¥ W &9 it 7 argt ifew

A '€ AZSY T HB UST IS |
(1) 450009us (2)  46640TUT
(3)  540009uT 4)  46000TUT

gost & gen 3° g9t 149,600,000,000m T
ferm gat & fimrat gu it 3=am?

(1) 1496X10"led (2) 14.96X10"Hied

(3)  1496X10°Mred (4) 1496 X 10°Hre

I fafumit f&8° faoz qg6 T3 T2

(1) v g e fagem»ix (0,0) T5 |

(2) o=t e farer x-foger vid fAEg T, »3y

foger nix fReg st 3, y-u9 I AES Jer I |
et g famer y-fsgen via fAeg T, w3 x
feger vix fAeg adt 7, y-ud I A3 Jer I
fogerm wig (3,4) m3 (4,3) € 2y-2 fieg
TIAET TS| )

167 g nmare 4 St w3 T gu R fau
) 4 2) 4
3 4 4) 4

(3)

(4)
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55.

56.

57.

58.

59.

60.

A bag contains 3 red balls, 5 black balls, and 4 white
balls. A ball is drawn at random from the bag. What is
the probability that the ball drawn is not white?

(1 512 (2) 14

(3) 213 4 13

If x-coordinate of a point is zero then this pointlies :

(1) Inthe1stquadrant (2)
(3)  Onx-axis (4)

Inthe 2nd quadrant
Ony-axis

A postman cycles from a town to a neighbouring sub
urban area to deliver a parcel to a merchant. His
distance from the town at different times is shown in
the given graph. By observing the graph, find the
interval during which he rode fastest?

1) between10amand11am
2) between8amand9am
3) between9amand 10am
4) between 11 amand 12 noon
»
T
=]
S =
E b
It EE
i'% . r}
dq
i
&am 9am MWam  1am 12 Hean
Time —>

A scooter was bought at Rs. 50,000. Its value
depreciated at the rate of 8% per annum. Find its value

after one year.
(1) Rs.45000 (2)  Rs.46640
(3)  Rs.54000 (4)  Rs.46000

The distance of the earth from sun is 149,600,000,000m.
The standard form this distance is:

(1) 1.496X10"m (2)  14.96X10"m

(3)  149.6X10°m (4)  1496X10°m

Which of the following statements is false?

(1) Thecoordinates of the originare (0,0).

(2) A point whose x-coordinate is zero and y-
coordinate is non zero, will lie on the y axis.

(3) A point whose y-coordinate is zero and x-
coordinate is non zero, will lie on the y- axis.

(4)  Coordinates (3,4) and (4,3) represents two
different points.

Write 16° in exponent form with base 4.
1) 4 2) 4
3 4 4) 4



61. %S’ & wiTH HIT &% U3Ht et I fa8fx  61.  Sound of women is shriller than sound of men

nigst  pe et A SaEt Heet 3. I because length of vocal cords in womeniis...............
(1) faorer than that of males.
(1)  Greater
(2) WH_U’ ) o (2)  Equal
(3) 3=t € Bt T ooreH ¥ U I9 JT € (3)  Length of vocal cords has nothing to do with
=t gy &It shrillness of sound
(4) we (4)  Smaller
62. IBIT & Ig § o fa At § I=B 62 Kulveertold Raju that cells can only be seen with the
FuHESHt 576 It Ffmr 7 AeeT I, St nry help of Microscope and not with naked eye. Raju was

575 ot ug 9 €ne fen us 5 Afons
&dt At 97 9% wru@ AeTE Tt yEet s fan

not completely satisfied with his view. What example

Raju gave to justify his view?

A% <t Gurogs feA I Ax=t 32

(1) s (2) 3% T PRiEE B (1) NerveCell (2) Epithelial cell of cheek

(3) i (4) FIHTI T i3 (3)  Amoeba (4) Ostrichegg
63. FFETAI? 63.  Whatis Foetus?

(1) feafizsgs (2) He GO (1) Welldeveloped embryo

3) ) (4) - - (2)  Female gamete

- - (3)  Zygote
(4) Malegamete
64. fosafegfe3I = xT HUTR? 64.  Whatwill be the angle x in the following diagram?
YN
Incident Reflected
Rays Rays
]
Ferpendicular
(1)  50fzarat (2) 40 faarst (1)  50degree (2) 40 degree
(3) 30fzarat (4) 60 fZarat (3)  30degree (4) 60 degree

65. oIBfeed 3 fo39 fe'g feue nigATa 3T it 65.  Kulwinder inserted open ends of two copper wire

¥ 397 u fo g g fodhnit i3 8ot & St into the Potato and attach other ends to the battery.
5% 93 fo 3T vy W amie 8R3 fimr fx He noticed a green-blue spot at the point of insertion
fe's 379 T oS T9-31S around one end of wire while

Jar = gEr g famr Aefa H there was no spot seen where ]
TAST 39 oS wifgar second wire was inserted. Can

a1 A IT9-318 Ty TSt you guess the terminal of the

39 ¥t T fan o

battery, to which the wire with
&% A aret It @ green-blue spotis connected? @

(1) USSH ZIHES

—_

Positive terminal

)
(2) fIe3Hx zHHs® 2)  Negative terminal
(3) TSIHA 7 fIe3Ha 2oHTs® 3)  Positive or Negative terminal
(4) 39 IR zoHle® 5% T3t It &I A | 4)  Wireisnotattached to any terminal

11



66.

67.

68.

69.

70.

(1) 3IIBIII

(2) AISTHIS I
(3) AfEfESIIaTF
(4) SUIIZI AT

fewme § yoe mitae f€5° daa @ © g3

fus| 7e° €9 gaxt § mirum fe'9 Amer T 3

dax v fea faorgn gax @ fea fAg g nmug

Trfage I faen e gug aaer 3 |

fereraas I fa:

(1) Y94 € AHG UJ< &) g1 § nIITHS J9¢
T |

(2) TI € nAHS Ud< & T § niusafas
IIC T3 |

(3) ¥9x ¥ AN Ud< f&d g § nuaaHs
IIE T3 |

(4) QuIas feg et ad

3 ni'H AT THS »i9Es § &t gaH I famrm
8oat T niftmux 3 T f& g3 Sa1 fros
T I5, 91 ¥ I I I5| I fefmit fo5°

feazTsarerJar st 72
(1) J& (2) AUSE HAH
(3) <t (4) fowg

IS ¥ 1 §UT & nis 33 T Santt Uit A |
T | FSI3T & fea et fa oz <t st = o Inew
Ter &t It Aefa & & St S9E 3 fFa um niew
pEEt it | feous e oz s TanGera?

(1) ufsx (2) FerzuasT

(3) %dﬁ@ﬁmm (4) IHIIT

niftriux & g fenit g = fimr fa punrte €8 82
g% I5 fx feast § dat »iy &7 adt e 7
AT Infftmiux 3 g fentt § fex wse &t Hee
5%, 2uF T uSt fe9 ISt qeT muElR
feur? |15t 3t @R TSI T st T A AGR 372

(1) Agas guHeEsH (2) fis dBdHar

(3) TITIH (4) fomdtegrt

66.

67.

68.

69.

70.
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Rolling Frictionis more than................
(1)  Fluidfriction

(2)  Sliding friction

(3)  Staticfriction

(4)  Alloftheabove.

Dilshad found two pieces of magnets from an old
speaker. When he join two pieces of the magnet
then the magnet attracts one pole of another
magnet but repels its another pole because:

1) Like poles ofamagnetattracteach other.
2)  Unlike poles ofamagnetrepel each other.
3)  Like poles of amagnetrepel each other.
4)  Noneofthe above

(
(
(
(

Manpreet got infected from cold some days ago and
his friend Arjun also got infected today. Their teacher
told them that there are some diseases which get
transmitted from infected person to healthy person
and are called Communicable diseases. Which one
of the following is notacommunicable disease?

(1) Cholera (2)  Common cold

3) TB. (4)  Goitre

Wooden and Iron boxes were placed on Sunita's table.
Both the boxes fell down when touched. Sunita found
that wooden box does not made any sound when
dropped but a special sound is heard when Iron box is
dropped. Which property of metals does it show?

(1) Sonority (2)
(3)  Ductility 4)

Malleability
Conductivity

Teacher taught the students that microorganisms are
so tiny that they cannot be seen with the naked eye.
The teacher showed microorganisms moving in
pond water with the help of an instrument. Can you
suggest the name of that instrument?

(1) Compound Microscope

(2)  Pinholecamera

(3)  Telescope

(4)  Electroscope



71.

72.

73.

74.

75.

76.

717.

Jo ferinit f'S* oot nioms yStRfea e gu fe's
IS AT ?

(1) I&Is (2) =IHts

(3) nrfeGsts (4) wiaAtEs

Jot &3 fo'z9 feo womst fafonr = &
TH? .

(1) yJdre

(2) foros

(3) ABf&IT

(4) ofen ufaedss

(Multiple Reflection) € 93" a5t ATet I?

(1) WelgAey  (2) E9dts
(3) IHFCERIU  (4) BUIIZ AT

Ifieg 3 2reT g uel fe'e 38 & Iftmrm
8ra fumr fx 2AET =T THI I
Afamr | ferer 8fg3 S795 &t 9=ar 2

(1) ustdus /it (2) Ut sHels A
(3) UstITHes d# (4) Ut 3sTH

i 3 A .. 9% 3T 3T asst 5 SR Tt
gig 2.3 & Aadts % Sa a=t 8 3
fiporr fx 1.3 <t Aadls 3 BREt o e @
fue »2 w3 fex guat fAdt nie= et
wifrar fa@* 3fewr 2

(1) AITS I AT IIS |

(2) FILTH II5|

(3) FUIR 9% JIA |

(4) MAYIS AfET oA%E! 8% J9d |

goety 3 e fx Brer SE A3 o uge
e} IIHIS HTST It § T § AT HArgT IT 7
fors 5% 2y faor /it g93 3975 At fx &7
frgr /a1 A9 T O g Tt oY faR” wew e_am
Tt 3 8Ag AHSTTEN fX nifar mat fo'e Hige
Hierenit a9 Ifenr ot AT fegst Aerent &
ST EAAIE I?

(1) TEtagH (2) BACTAISBH
(3) uHlg (4) HELIITIH
Yo S ug ffa 338 At I fSedua

yrT & HHed  § yfenr fa feg fxae uerom
J 3t HTAET 1 3 T fx feo e o3 3135
faftmr feg* faoftus g e s feosma
Thmr e I?

(1) &g (2) Tt

(3) RS (4) ITUI

7.

72,

73.

74,

75.

76.
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Which of the following non-metal is used as
antibiotic ?

(1) Chlorine 2)
(3) lodine 4)

Bromine
Oxygen

Name the process shown in the following diagram.

) Pollination

) Fertilization

) Cloning

) Metamorphism

In which one of the following devices, concept of
multiple reflection is applicable?

(1) Microscope (2) Telescope

(3)  Kaleidoscope (4) Allofthe above

Rajinder inserted an electric tester into water. He
noticed that bulb of the tester does not glow. What
could be the most probable reason for this ?

(1) Waterwasimpure. (2) Waterwas Salty

(3) Waterwas distilled (4) Waterwas chilled

While starting T.V., Ajay noticed that hairs from his
arm get attracted towards the T.V screen,
producing a low crackling sound. Why this
happened?

1 Due to production of current from the screen.

(1)

(2)  DuetoHairsofthearm.

(3)  DuetoContactforces

(4)  Duetonon-contactelectro-staticattractions

Hardeep saw that his brother Harjeet who is studying
in fourth standard was observing carefully that mother
was adding some curd in milk. Harjit was surprised
that how a small quantity of curd could convert whole
of milk into curd. Hardeep explained him that some
bacteria were responsible for this change. Can you
suggest the name of such bacterias?

Lactobacillus
Micobacterium

(1) Rhizobium (2
(3) Yeast (4)

Pooja saw an element dipped in kerosene oil in the
laboratory and asked her teacher about it. The
teacher told that it is a metal. Which metal is stored
under kerosene?

(1) Iron (2)
(3)  Sodium (4)

Silver
Copper



78.

79.

80.

81.

82.

83.

84.

85.

Hg Ht HeT © far e iar fe'e gg= sfager
3?

(1) visan (2) i3 fsam =fost
(3) =gEar (4) fHger

niforimux 3 A3 feg effr fa g3 #ie fAg
Tt dfenrt § AeH & g5 »i3 I3 iz S 751
i3 TT TS it Tt Jo ettt fog* faast
Segsz At &t T
(1) feuast

(3) fost

yaH T faR Tous € AST 5% 9T & TUA
HFS & fafanr g ot afde 757

(1) YIH T MUSIIS

(2) YIH T UTIIS

(3) yame fuser

(4) Budas T8 a5t

T AT HUS TS EIT T ST TH?

(2) HIdft
(4) Hs

(1) ¥9Htea (2) AUdIEHIET
(3) MaHHET (4) Midvteg

e TU-IY U9d T8 TE5 wun fee
fise gs3tadtgera ?

(1) <qur

(2) fedaerandt

(3) foasst femanas

(4) foAsst niuwes

gt €t ygssT v fearet ot 32
(1) TIdcd (2) UHAS
(3) 3HE® (4) fs€es

AEefEsyusafey ?

(1) eI, Ao BH, BEUue9s (AEteusyaH)
(2) FHfIS, Jedx, BE uTag (ArEteusH)
(3) HEEKSNM, T arfenit, IETgRH
(4) BuIaz AT
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The teacher showed the
slide of Epithelial cell of
Cheek to Hardeep and
asked him to label 'A'.
Whatis the name of ‘A’

(1) Cellmembrane (2)
(3)  Cytoplasm

Nucleus
(4) CellWall

An embryo develops in which part in human
female reproductive system?

(1) Ovary (2)  Fallopian tube

(3)  Uterus (4)  Stomach

The teacher told the students in the class that
some organisms give birth to young ones while
some lay eggs. Which of the following animals do
notlay eggs?

(1) Lizard (2)
(3)  Sparrow (4)

Hen
Buffalo

Name the phenomenon when light bounces back
after striking on the surface of mirror.

(1) Refraction of light

(2)  Reflectionoflight

(3)  Scattering of light

(4)  Noneofabove

Name the instrument by which speed of air
measures ?

(1)  Barometer (2)
(3)  Anemometer (4)

Sphygnometer
Aerometer

What happens when opposite charged clouds
make contact ?

(1) Rain

(2)  Electroscope

(3)  ElectricEmission
(4)  Electrolysis

Whatis the unit of intensity of sound?
(1) Hertz (2) Pascal
(3)  Decibel (4) Newton

Write three main parts of the cell?

(1) Nucleus, PlasmaMembrane, Cytoplasm
(2)  CellWall, Nucleus, Cytoplasm

(3)  Mitochondria, Golgi Bodies, Ribosomes
(4)  Allofabove



86.

87.

88.

89.

90.

91.

92.

93.

IHAC 3 IHES T 3 AES T yRAT
Fafentt faar fa Aretas = 358 993 IHaE9
31 IHee 3 faor fx fers 35w § war <t a1
BAET| 3T WSHAT AERS © I8% 3 fan

UTTIE T HBHT 13T famrr 32

(1) IIHIH (2) Stgr

(3) BT (4) fArs

o e faas sarfe e fsas niarue AR 95|
(1) dedx (2) AHEH

(3) AECUEHEH  (4) YoumEH

iy T 3T fe' Hyge 3 Ast mi3 I3 At @
AeU fe'e faoz g6 At 372

(1) & A% HOH YIH ST 03 I3 7S 37 YH
Bt ARTOHI® I€ I |

(2) 35 A% »3 I3 A® ©o 39 YIH BT
AToHI®B I IS |

(3) && A® N3 I8 A% ©6 HUH YyH &=t
AToHI® I IS |

(4) 6 F® 30 YIH BTt »3 I AS HOH Yo'H
Bt ARTSHI® I€ IS |

nisE T fsans fegger 3

(1 us® (2) a9-féedt

(3) wizam (4) fegst fed aet &t
fo@asmm »i3 s 58t T fegas At =9ar

ye9y § ot faar Arer 37
(1) fe@adm iy (2) AfedusmH
(3) YusmH (4) fegst feg agt st

feg Bt fAaw-Be-3% »i3 ITg9e awEle
it Aot fegarg IEt A, ferg usH &t
JEt?

(1) 1757 A<t (2)
(3) 1764 SRt (4)

1857 EtR<T
1784 StA<t

‘fe Bt 88’ = smraT far % fe3T famrr?
(1) HIHITIIH

(2) HITIHT TGt

(3) w3 fHw

(4) AT HG 1Y

HIT3HT Jriat @t 1920 E. o9 fagzr
ne®s gHTEnT famrr A2

(1) &-fH®edss viess

(2) fAe® sT-gaHTat

(3) FIIEI VDS
(4) 3ETHIT
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While praising new bicycle of Rambir, Rajdeep said
that handle of the bicycle was too shiny. Rambir said
that its handle does not even corrode. According to
you, Handle of the bicycle is electroplated with which
material?

(1)~ Chromium 2) Copper

(3) Iron 4) Zinc
Inwhich part of the cell, organelles are present?
(1) Nucleus (2)  PlasmaMembrane
(3) Cytoplasm  (4)  Protoplasm

Which of the following statement is correct

regarding cone cells and rod cells present in the

retina of human eye?

(1) Cone cells are sensitive to dim light and rod
cells are sensitive to bright light.

(2)  Cone cells and rod cells both are sensitive to
brightlight.

(3)  Cone cells and rod cells both are sensitive to
dimlight.

(4)  Cone cells are sensitive to bright light and rod
cells are sensitive to dim light.

Eggs are formedin the
(1)  Testis 2)
(3)  Ovary (4)

Penis
None of these

What is the jelly like substance between the nucleus
and the cellmembrane called?
(1) NuclearSap 2)
(3)  Protoplasm 4)

Cytoplasm
None of These

This battle was fought between the armies of Siraj-
ud-Daulah and Robert Clive, is also known as the
Battle of Plassey. When did this battle take place?

(1) 1757AD. 2)
(3)  1764AD. (4)

1857 AD.
1784 AD.

Who gave the slogan "Delhi chalo"?
(1) Subash ChandraBose

(2)  Mahatma Gandhi

(3)  ShaheedBhagat Singh

(4)  JawaharLalNehru

In 1920 AD, which movement was launched by
Mahatma Gandhiin India?

(1) Non-cooperation movement
(2)  Civildisobedience

(3)  QuitIndiaMovement

(4)  DandiMarch



94.

95.

96.

97.

98.

99.

100.

101.

AG?

(1) crfeg fAftmreryAg a3 A< |

(2) FIAufEa w3 feosufear § f&q ga 3°
T AITAR |

(3) AT 833 AT HIg s We 3T A= |

(4) Budas A9

1832 ER<t fe'g dars fe9 fonr-yzat <t
AEUST faH & i3t?

(1) ®I3 ITIGSTSH

(2) I8 fedmiH gféx

(3) B9 3HIAT

(4) Budas feg et &dt

“YFY WidIIAT &% et AT 591 I ¥ET ITde I7,
Hoe faA eI 9 a8 A5 ?

(1) & FAYI I

(2) I% digrug 35

(3) feus gedus

(4) HI™3HT It

Ag HSt, fAuntt w3 d9-Aeges nife fa 8

Y3 g2 957
(1) s (2) mies
(3) UT3 (4) feat feg aet adt

‘EAeTs 93 AT T AT fagt g Sist
aret?

(1) zars3 Ry (2) IdII
(3) ISt gI& SITT (4) BuIIz AT
‘BUR T 3P fIH T niu=Tet arEt?
(1) BI85 IBAS

(2) JgIe ABET

(3) ®I8 3BIHT

(4) ®I3 TI&SIBH

Jred UTaSt ¥ HETUST e 1St argt?

(1) 1902 =t. (2) 1913 =t

(3) 1885 =, (4) 1905 .

=9 g famr?
(1) 26 A&=IT 1930
(3) 26 A&=IT 1950

(2) 26 FAa=I 1940
(4) 26 Aa<dt 1960

94,
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Which were the main demands of the Indian National
Congress?

To spread education in the country

Toseparate the executive from legislature

To reduce the expenditure being spent on military
Allof the above

w

—_— e~~~ —
~ N
= =

Who established the jury system in Bengal in 1832
AD?

) Lord Cornwallis

Lord William Bentick

Lord Dalhousie

(1
(2
]
(4)  Noneofthe above

~— — —

Who said these words, "We do not want to maintain
relations with the Britishers. We want our own
governmentin India"?

(1) LalaLajpatRai

(2)  BalGangadhar Tilak

(3)  VipinChanderPal

(4)  Mahatma Gandhi.

From where do we get pearls, oysters and
diamonds?

(1)  Forests 2)
(3)  Mountains (4)

Seas
None of these

Who founded "Naujwan Bharat Sabha"?
(1)  BhagatSingh

(2)  Rajguru

(3)  Bhagwati Charan Vohra

(4)  Allofthe above

Who adopted the "The Doctrine of Lapse"?
(1) LordWelleselly

(2)  RobertClive
(3)  LordDalhousie
(4)  Lord Cornwallis

When was Ghadar Party formed?
(1) 1902AD. (2) 1913AD.
(3)  1885AD. (4) 1905AD.

When did India become a complete independent,
sovereign, democratic republic?
(1) 26January 1930 2)
(3)  26January 1950 4)

26 January 1940
26 January 1960



102. fxoFt Aoarg ufgeasaHts J€t 37

103.

104.

105.

106.

107.

(1) IEHJI (2) BIZ3IT
(3) FH3TEr (4) BuIIZ AT

€ ATS € ATST ANTIIH 88T ©f Aadt faA s
getaI?

(1) TIJHeSIUST
(3) fezHzdt

(2) yus H3IT
(4) HuH3d

HE3 ni3 aHt Hed! fAfunr far 8He agy

T gfont g festAiEt 37

(1) 11-147% (2) 4-157%
(3) 6-18 A% (4) 6-147
‘TH IF X5’ I gETEnr fami?
(1) 1961 SRS (2) 1965 EAIT
(3) 1960 AT (4) 1975 EiR=<t

1772 €<t fe'g dars fe'g faost mms y=at
T i3 3T famer, AR &% gars feg nigrewt
gre féstr quat = fAor ydo &q 3 famr
w3 8R &% rigowl StAe fEshar qust <t
yf3gr Jg T g arst?

(1) <Jt ARG YTt

(2) Aofea AT

(3) BUAEr S

(4) feafadt ARG Yyt

Jos IHAES famr| €/ 3 €% Tftmr fa st
frer ust &t wges TE st adt
Garghort Aei™ g5 TR fX IwRES feo
faodt famn €t firdt ugt /et I2

(1) @egete et

(2) HIgst et

(3) Hd®t »i3 ygEst et

(4) T et
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Which government is adaptable to change?
(1)  Dictatorial (2)  Democratic
(3)  Feudalist (4)  Alloftheabove

Who has the power to call the joint session of the
Parliament?

(1)
(3)

Prime Minister
Chief Minister

President
Finance Minister

(2)
(4)

Which age group of children is included in Free and
Compulsory Education?

(1)
(3)

11-14 years
6-18 years

(2)
(4)

4-15years
6-14 years

When did the '‘Dowry Prohibition Act' came into force?
(1)  1961AD (2)  1965AD
(3) 1960AD (4) 1975AD

Which system of administration was abolished in
Bengal in 1772 AD, which established direct rule of
the British East India Company in Bengal and this
further enhanced the company's prominence?

1 Dual Administration System

(1)

(2)  SubsidiaryAlliance

(3)  Doctrine of Lapse

(4)  Single Administration System.

Rohan went to Rajasthan. He noticed there that the
water goes down to the ground quickly. The crops
that need more water could not be grown there. What
type of soil is found in Rajasthan?

(1)  Lateritesoil

(2)  Desertsoil

(3)  Forestand Mountainous soil
(4)  Blacksoil
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108.

109.

110.

11.

112.

In the given map of India, which mineral is mostly
found in the shaded region?

(1) Coal
(2) Iron
(3) Gold
(4)  Naturalgas

What type of soil is found in the area shown in the
givenmap?

Black soil
Laterite soil
Red soil
Alluvial soil

You all must have seen around your home or school
that some flowers or plants grow on their own. What
kind of vegetation is this?

Mountainous vegetation
Natural vegetation
Deciduous vegetation
None of these

Navjot's grandfather tells him that some natural
resources are depleting very fast and they will not
be regained. What natural resources does Navjot's
grandfather talk about?

(1) SolarEnergy 2)
(3)  Soilresources (4)

Petroleum
Water

It is a country where earthquakes occur frequently.
Despite the scarcity of resources, the country has
made great progress. Which country is this?

(1) America (2)
(3) Burma (4)

Japan
Australia
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114.

115

116.

17.

118.

119.

120.

Which of the following statements is true?

A.  Resources are a great gift of nature.
B. Manhimselfis the biggest resource.
(1) AandBare correct

(2)  AandBareincorrect.

(3) AistrueandBisfalse

(4) AisfalseandBistrue.

Name the first Portuguese Captain who reached
Calicut, inIndiaon 1498 AD by sea route?

(1) Vasco-de-Gama (2)
(3)  LordDupleix (4)

Due to its colour and brightness, it is an attractive
and expensive metal. People have been fond of
wearing jewellery and other ornaments made from
this metal. Which metal is this?
(1) Gold (2)
(3)  Silver (4)

Which crop is also known as white gold?
(1)  Cotton (2) Rice
(3) Maize (4) Millet

For the purpose of giving cheap and speedy justice,
which types of courts are organized?

Megasthenes
None of these

Copper
Brass

(1) Civilcourts

(2)  Criminal courts
(3) Lok Adalats
(4)  Allofthe above

Who was the first President of India?

(1) Dr.Rajindra Prasad

(2)  PanditJawaharLal Nehru
(3)  Sh.RamNathKovind

“4)

Sh. Abdul Kalam

3
4

If we want to receive rights, which of the following
must we follow?

(1)
(3)

Equality (2)  Duties

Religion (4)  Noneofthese

Whom can we approach in case of violation of our
rights?

(1)
(3)

Executive

(2)
(4)

Legislature

Judiciary None of the above
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Direction : Read the passage given below and answer the questions (Q. No. 131-135)

Prafulla Chandra Ray was born on 2 August, 1861 in the district of Jessore now in Bangladesh, close to the
birth place of Madhusudan Dutt, widely regarded as the 'Milton of Bengal'. It was the best of times and the worst, the
British had by now perfected their role as masters and British values permitted the Indian upper classes to the very
last detail like table manners. That, of course, was not the worst of the British influence. What was far more
demeaning to the educated Indians - was the fact that senior government positions were closed to them. Being
forfeited of one's right in one's land to birth would become the rallying point for the Indian intelligentsia in the years
to come. Ray's father Harish Chandra Ray, a man of learning and taste was closely associated with the cultural and
intellectual leaders of the time and exerted great influence on his son. Ray had his early schooling in the village
school founded by his father but soon his father shifted to Calcutta and at the age of nine, little Prafulla set eyes for
the first time, on the bustling city that would be his home for many years to come. He was filled with wonder at the
ever-changing sights and sounds of the city. His formal schooling was interrupted due to iliness but that did not
affect his education.

131. Intelligentsiaheremeans__ . 136  "You did a great job!" Choose the correct type of
(1) upperclass. Sentence:
2) intellectuals considered as a group. (1) Optative Sentence

(2) Interrogative Sentence
(3) Imperative Sentence
(4) Exclamatory Sentence

(
(
(

)
3) individuals ofasociety.
4) nativesof Bengal.

132. Who was associated with the cultural and 137 Choose the correct punctuated sentence.

intellectual leaders of the time? (1) this is my mother's office where she comes to
(1) PrafullaChandraRay work everyday
(2) Madhusudan Dutt (2) \Tvgirski:vgr); dn;?/’flhers office where "she comes to
(3)Harish Chandra Ray (3) This is my mother's office where she comes to
(4) Jessore work everyday
(4) This is my mother's office, where she comes to
133. The word ‘demeaning' means. work everyday
(1) lupgrgdmg (2) resp.elctful 138. My father is SDO in the electricity board.
(3) insulting (4) admiring (Choose the correct determiner from the
following)
134. Whois considered as 'Milton of Bengal'? (1) a (2) an
(1) Harish ChandraRay (3) the (4) some
(2) Prafulla ChandraRay 139. 1do not play cricket. (Change into present perfect
(3) Madhusudan Dutt tense)
(4) Jasoore (1) Ihave notplayed cricket.
(2) Idid notplay cricket.
135. How old was Prafulla when he visited the city for (3) Iwillnotplay cricket.
the first time? (4) Iplayed cricket.
(1) seven (2) eight ) , )
3 ni A 140. Narinder works hard his brother is lazy.
(3) nine (4) ten (Choose the correct conjunction)
(1) as (2) where as
(3) so (4) although
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